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' - A simple flow system to be used for steady flow
tests consists of 2 constant héad tank connected to a efigth of
4-mm-diameter tubing as shown in Fig. P6.163.The h:;usd has

Poa vmc«:}my ST 0015 N s/m% g density of 1200 kg/n®, ahd dis

charges into the atmosphere with a medn velocity of 2 2 m/s. (@)

Verify that the flow will be laminar, (b} The flow is. fully de-

veloped in the Tast 3 m of the tube, What is the pressure af the

- piressure gage‘? {y What 1s the magmméﬁ of the wall shuamg

Sress, 7., 0 the fully éew‘lop»d region?
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